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Introduction
°

All exercises will follow this general schedule

Identify potential understanding problems
— Ask your questions
— Recap of the lecture

Address the understanding problems
— Answer your questions
— Repeat certain topics

Walk through the exercises/solutions — Some hints and guidance
— Work time or presentation of results



Recap of the Lecture
°

You have seen ...

the and of and

the original of IPv4 networks, what and what are
how to connect to the Internet using

that IP datagrams can be if they are too big for a single

frame on the data link layer
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An upper-layer packet is split into 16 frames, each of which has a 75 percent chance of
arriving undamaged. If no error control is done by the data link protocol, how many frames

are required to be sent on average to get the entire thing through?
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